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Reminders

• HW1 due Wed

‣ written part through Gradescope, programming through repl.it

‣ should be able to access these even if you aren’t registered; contact us for 

invites if necessary


• Quiz1 on Fri in class

‣ we’ll save some time for review Wed; bring questions and post on Piazza

‣ 80 min, all written problems, closed book/notes
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Linear regression
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Conditioning

regw2 = np.linalg.solve(X.dot(X.transpose()) + ridge*np.eye(1+degree), Y.dot(X.transpose())) 
unrw2 = np.linalg.solve(X.dot(X.transpose()), Y.dot(X.transpose())) 
invw2 = np.linalg.inv(X.dot(X.transpose())).dot(Y.dot(X.transpose())) 
print(f"difference in weights, ridge regression: {np.linalg.norm(regw-regw2):.4}") 
print(f"difference in weights, plain regression: {np.linalg.norm(unrw-unrw2):.4}") 
print(f"difference in weights, multiply by inv : {np.linalg.norm(unrw2-invw2):.4}")
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Contour plots
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Derivative example
R -> R3
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Derivative example
R2 -> R
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